
4WD McNamee wheels Normal Chassis Kit



安装 3D 打印铰链，按照如图准备材料（注意铰链两两镜像）

此处的螺丝不受力，拧

进去就好，不要太使

劲，容易滑丝

Install the 3D printed hinges and prepare the materials as shown (note that 
the hinges are mirror images)

The screws here are not under 
stress, just screw them in, don't 
use too much force, or they 
may slip.



安装大底板（安装时需先在铰链内放入 M3 的螺母，然后用 M3*8 
的螺丝固定）

安装梁柱零件（如图准备零件，需先把箭头所指位置处的零件拆
除，拆除后如图所示）

此处的螺丝不受力，拧

进去就好，不要太使

劲，容易滑丝

Install the large base plate (when installing, first put an M3 nut into the 
hinge, then fix it with an M3*8 screw)

Install the beam and column parts (prepare the parts as shown in the 
figure, and first remove the parts at the position indicated by the arrow, 
and then remove them as shown in the figure)

The screws here are not under 
stress, just screw them in, don't 
use too much force, or they 
may slip.



梁柱零件安装完毕

安装第二层面板（如图准备零件，先将六角铜柱固定在面板上后，再
安装到最下层的大底板上）
【注】：第二层面板客户可根据自己个人需求自行选装

此处的螺丝不受力，

进去就好，不要太

使劲，容易滑丝

Beam and column parts installed

The screws here are not 
under stress, just screw 
them in, don't use too 
much force, or they may 
slip.

Install the second panel (prepare the parts as shown, first fix the hexagonal 
copper column on the panel, and then install it on the bottom large base plate)
[Note]: The second panel can be selected by the customer according to their 
personal needs



安装顶层面板（如上图所示，需先在梁柱内部放入螺母。再按照下图
摆放方向安装三块顶层面板）

安装轮子（轮子安装方向如下图所示，需特别注意轮子方向）

Install the top panels (as shown in the picture above, you need to put nuts 
inside the beams first. Then install the three top panels according to the 
direction shown in the picture below)

Install the wheels (the wheel installation direction is shown in the figure 
below, pay special attention to the wheel direction)




